WORKSHEET 3

In this experiment you will determine the relative atomic mass, A, of magnesium by a titration
method.

FB 1 is 2.00 moldm=2 hydrochloric acid, HCL

FB 3 is 0.120 moldm= sodium hydroxide, NaOH.
magnesium ribbon
bromophenol blue indicator

(a) Method

Reaction of magnesium with FB 1
e Pipette 25.0cm?® of FB 1 into the 250cm? beaker.
e Weigh the strip of magnesium ribbon and record its mass.

e Coil the strip of magnesium ribbon loosely and then add it to the FB 1 in the beaker.
e Stir the mixture occasionally and wait until the reaction has finished.

Dilution of the excess acid
e Transfer all the solution from the beaker into the volumetric flask.

e Make the solution up to the mark using distilled water.

e Shake the flask to mix the solution before using it for your titrations.
e Label this solution of hydrochloric acid FB 2.

Titration

e Fill the burette with FB 2.

e Rinse the pipette out thoroughly. Then pipette 25.0cm?® of FB 3 into a conical flask.

e Add several drops of bromophenol blue indicator.

e Perform a rough titration, by running the solution from the burette into the conical flask
until the mixture just becomes yellow.

e Record your burette readings in the space below.

Final  buvelle fadxrv [em® ds 60
Znitial  burelle raad‘w/m‘ 0-00
Vi § FER wedfe a3-60 The rough titre is A5 60. e,

e Carry out as many accurate titrations as you think necessary to obtain consistent results.

Make sure any recorded results show the precision of your practical work.

e Record in a suitable form below all of your burette readings and the volume of FB 2 added
in each accurate titration.

I E] 3 p I

Final buvelle Yeacﬁ‘nj/cmg J1-30 2§-d0 | 44.00 I
Tnital  buretle r&é‘v/w’ 0-00 10-40 | /6-80 I
Ve '{L FBA used/ew® ds-30 | d5:d0| 450 v
v [ !

VI

VII

[7]



(b) From your accurate titration results, obtain a suitable value for the volume of FB 2 to be used
in your calculations.
Show clearly how you have obtained this value.

A5:50 + J§-30
d‘l

25.0cm? of FB 3 required cQSo?D cmiof FB 2. [1]

(c) Calculations

Show your working and appropriate significant figures in the final answer to each step of your
calculations.

(i) Calculate the number of moles of sodium hydroxide present in 25.0cm? of solution FB 3.

(ii)

(iii)

(iv)

n=cV
= 0. g._S"O
RO x 0

moles of NaOH =

3.00X10 ol

Give the equation for the reaction of hydrochloric acid, HCI, with sodium hydroxide, NaOH.

State symbols are not required.

Deduce the number of moles of hydrochloric acid in the volume of FB 2 you calculated

in (b). rmfle vato NaOH - Hel
1T . 1
B.wXD—.S - A

Calculate the number of moles of hydrochloric acid in 250 cm? of FB 2.
A5+20 em 2-00x10™*
XS0 em? Rl «

moles of HClin 250cm? of FB 2 =

Calculate the number of moles of hydrochloric acid in 25.0cm? of FB 1.

n—.C,\/

. 9. AaS-0
= d DOX‘TOD



(v) In (a), you reacted 25.0cm?® of FB 1 with your weighed piece of magnesium. After the
reaction, the unreacted hydrochloric acid was used to prepare 250 cm? of FB 2.

Use your answers to (iii) and (iv) to calculate the number of moles of hydrochloric acid that
reacted with the magnesium ribbon.

O-0500 - 0-0248

(vi) Complete the equation below, for the reaction of magnesium with hydrochloric acid.
State symbols are required.

Mg

o AHCl, >  MCl, *+ Ha(a.) .......

Use your answer to (v) to calculate the number of moles of magnesium used.
mfle i MJ . Hd
1

d

P & )'< 0-0302
i moles of Mg = ..0:0101 ol

(vii) Use your answer to (vi) to calculate the relative atomic mass, A,, of magnesium.

n = i

O-o0l10l = 022 A of Mg = (9-80

(d) (i) State one observation that proves that the hydrochloric acid in FB 1 was in excess for the
reaction with the magnesium ribbon.

M?nes o Y'bbo" ..... was 6[« :ssﬂ\./ﬁd; .....................................................................

(i) A student carried out exactly the same experiment but used 1.00g of magnesium ribbon.
State and explain why the student’s experiment could not be used to determine the value
for the A, of magnesium.

Include a calculation in your answer.

- I M a . es Hd qu"d-
n- = i 0~04’0?Mﬂ'% 4, So atleast 0-082 b ?

[Total: 17]
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In this experiment you will determine the relative atomic mass of magnesium by thermal
decomposition of hydrated magnesium sulfate.

MgSO,.7H,0(s) —» MgSO,(s) + 7H,0O(g)
FB 4 is hydrated magnesium sulfate, MgSO,.7H,0.
(a) Method
Record all your weighings in the space below.

Weigh the crucible with its lid.

Transfer all FB 4 into the crucible.

Weigh the crucible, lid and FB 4.

Place the crucible on the pipe-clay triangle.

Heat the crucible gently with the lid on, for about one minute.

Then heat the crucible strongly, without the lid, for a further four minutes.
Leave the crucible and its contents to cool with the lid on, for several minutes.
While the crucible is cooling, begin work on Question 3.

When the crucible has cooled, weigh it, with the lid and contents.

Calculate and record the mass of anhydrous magnesium sulfate produced and the mass
of water lost.

ress § couable + Lid /§ 2614
masg § couble + Ld + FBY4 /7 29 6y
st 'guau“:le +Ud + Fey affer MV/I A7 26
vrass 4 anyﬂ(m MJ”‘I/J [-dd I
mass G waer los/’/i [- A8 11

I

[3]
(b) Calculations

(i) Calculate the number of moles of water lost during heating.
(Use the data in the Periodic Table on page 12.)

[-d28
8

(ii) Use the equation above and your answer to (i) to calculate the number of moles of
anhydrous magnesium sulfate produced.

wilfle  vatio
M& 5‘01 N H,,O
I
L\ : 00 moles of MgSO, = 00/00? mol



(iii) Use your weighings and your answer to (ii) to calculate the relative formula mass, M, of
anhydrous magnesium sulfate.

n: 2
Av
7
O 0IOf = ™ = g

M, of MgSO, = ...[20........
(iv) From your answer to (iii), calculate the relative atomic mass, A, of magnesium.
$Oy ~ 321+ 64 - 96
M&S‘Oq : (L0

"l

(20 — 96- |
a3-9

A of Mg = 0?37 .....
[4]

(c¢) (i) How could the experiment be improved to ensure that the magnesium sulfate had been
completely dehydrated?

....... ' lwede('w”‘*mfmas‘%% dm&....Mg.fO......
(ii) Why is the lid put on the crucible during cooling?
To.. /’Waf o Oldition. {} ....... wafer.....moistuves .. from ... Ao

[Total: 9]



3 Qualitative Analysis
At each stage of any test you are to record details of the following.
e colour changes seen
e the formation of any precipitate

e the solubility of such precipitates in an excess of the reagent added

Where gases are released they should be identified by a test, described in the appropriate place
in your observations.

You should indicate clearly at what stage in a test a change occurs.
Marks are not given for chemical equations.
No additional tests for ions present should be attempted.

If any solution is warmed, a boiling tube MUST be used.

Rinse and reuse test-tubes and boiling tubes where possible.

Where reagents are selected for use in a test, the name or correct formula of
the element or compound must be given.

(@) FB 5 is a solution containing one cation and one anion.
Carry out test-tube tests to find out whether the cation in FB 5 is magnesium and whether the
anion is sulfate.

e State what reagents you used.
e Record the observations you made in a table.
e State your conclusions about which ions are present.

tests Obsevvations Conclusion
To lem depth ?. Alution, add while PPt

lem del’M J} ayy- NaOH then MJ‘;+ P{&{M)L

a

N

W excess jnsfluble n  exces
DN To tem deptt Jg, Adution, add white  ppt
lem &PM ?— 4$y NH} Meu
i excess " snu ble in excess
N lew de P'M ?, Allution no cAaye
add 1w depth J} $ qu abfeu}

- Ba(NO,),

add dilfe Hl -

[4]



(b) FB 6 is a salt containing one cation and one anion from those listed on pages 10 and 11.
(i) Place a few crystals of FB 6 in a hard-glass test-tube.
Heat gently at first and then strongly.
Leave the test-tube and its contents to cool.

Record all your observations below.

(ii) Dissolve the remainder of FB 6 in about 20cm? of distilled water in a boiling tube for use
in the following tests.

test observations
To a 1cm depth of the solution of FB 6 in
a test-tube, add a few drops of aqueous no dm’ye
silver nitrate.

To a 1cm depth of the solution of FB 6 [l e
in a test-tube, add a few drops of dilute ho C 47
sulfuric acid.

To a 1cm depth of the solution of FB 6 in [uf
a test-tube, add aqueous ammonia. wulte

prt

Mﬁble fn  excess




test observations

To a 1gm depth of the solution of FB 6 &OLA"LG ppt
in a boiling tube, add aqueous sodium
hydroxide until in excess, then

/i(ﬂw“‘? M excess

and test any gas produced, then

heat the mixture gently and carefully, No clt478/ daw'b /ed Uit

Fﬂfe)' Lemains e d .

add a small piece of aluminium foil while a oy less  4as (,,N{“cml
the mixture is still warm. Test any gas
produced. which *{’wnev, dam'b fed Lo‘/'mu;

Pn ey b(ue

(iii) Deduce the formula of the salt in FB 6.

Formula is Z"C"/O;);. ..............
[10]

[Total: 14]



Qualitative Analysis Notes
Key: [ppt. = precipitate]

1 Reactions of aqueous cations

reaction with

ion
NaOH(aq) NH,(aq)
aluminium, white ppt. white ppt.
Al**(aq) soluble in excess insoluble in excess
ammonium, no ppt. B
NH,*(aq) ammonia produced on heating
barium, no ppt. (if reagents are pure) no ppt
Ba?"(aq) ppt. g p ppt.
lci
gzgzjar;]’) white ppt. with high [Ca?*(aq)] no ppt.

chromium(III),

grey-green ppt. soluble in excess

grey-green ppt.

Cr¥*(aq) giving dark green solution insoluble in excess
copper(II), pale blue ppt. blue ppt. soluble in excess
Cu?(aq) insoluble in excess giving dark blue solution
. green ppt. turning brown on contact green ppt. turning brown on contact
iron(II), o .
with air with air
Fe?*(aq) . . . .
insoluble in excess insoluble in excess
iron(I1T), red-brown ppt. red-brown ppt.
Fe*(aq) insoluble in excess insoluble in excess
magnesium, white ppt. white ppt.
Mg**(aq) insoluble in excess insoluble in excess
manganese(l), off-white ppt.. raplldly turning brown off-white ppt.. rapl.dly turning brown
I on contact with air on contact with air
Mn?*(aq) . , . .
insoluble in excess insoluble in excess
zinc, white ppt. white ppt.
Zn?*(aq) soluble in excess soluble in excess




2 Reactions of anions

ion reaction

carbonate, CO, liberated by dilute acids
CO,*
chloride, gives white ppt. with Ag*(aq) (soluble in NH,(aq))
Cl(aq)
bromide, gives cream ppt. with Ag*(aq) (partially soluble in NH,(aq))
Br(aq)
iodide, gives yellow ppt. with Ag*(aq) (insoluble in NH,(aq))
I'(aq)
nitrate, NH, liberated on heating with OH~(aq) and Al foil
NO,™(aq)
nitrite NH, liberated on heating with OH (aq) and Al foil;
NO _(’a ) NO liberated by dilute acids

2 (@9 (colourless NO — (pale) brown NO, in air)
sulfate, gives white ppt. with Ba?*(aq) (insoluble in excess dilute strong acids)
SO,*(aq)
sulfite, SO, liberated with dilute acids;
SO,*(aq) gives white ppt. with Ba?*(aq) (soluble in excess dilute strong acids)

3 Tests for gases

gas

test and test result

ammonia, NH,

turns damp red litmus paper blue

carbon dioxide, CO,

gives a white ppt. with limewater
(ppt. dissolves with excess CO,)

chlorine, Cl,

bleaches damp litmus paper

hydrogen, H,

“pops” with a lighted splint

oxygen, O,

relights a glowing splint

sulfur dioxide, SO,

turns acidified aqueous potassium manganate(VII) from purple to
colourless

10




12

€0l 20l 203 00l 66 86 16 96 S6 ¥6 €6 6 16 06 Jaquinu (o1wope) uojold = g q
wnjpousime] wnijaqoN wniAs|epus iy wniwis4 wnjuielsulg wniuoyed wniexeg wnuny wnpuswy wnjuonid wnjunydeN wnjuein wnjuioejold wnuoyy
" ON PN wy s3 10 ig wo wy nd dN n ed uL loquiAs aiwole = X X Koy
h SSew Jlwole aAllelal = e e
(72 0L 69 89 19 99 S9 €9 29 19 09 65 85
wnpayn WINIGIPA wniny L wnigi3 wniwoH wnisoidsAg [TIETH wnidoing wnuewes wr y | y wnua)
SopIudY €01L-061
n aA wy IE OH Aa alL n3 ws wd PN id o) soplEYUET | 490
SLL €L 691 291 9L €91 651 151 413 051 rl 343 orlL % : *
8Ll 9Ll 141 415 L 0oL 601 801 101 901 S0l you |} 68 88 18
wnpoounun wnixayunun wnipenbunun wniqunun wnununun wnyuunun wnuauyay wnisseH wnuyog wniblogeas wniugng winipiopayIny wniupoy wnipey wnpuel
onn unn bnp ann | nnn | unp W SH ug s aa Y] oy ey 14
98 S8 8 €8 c8 18 08 6L 8L 1L 9L 72 122 €L CL | = A 95 SS
uopey auneisy wniuojod yinwsig pea wnijjey] Kinasapy ploo wnuneld wnipu| wniwso wnuayy uaysbuny wnjejuey wniueH wnueyue] wnueg wnisee)
uy w od g qd 11 BH ny d 11 SO oy M el JH e ed sO
602 102 02 102 161 S61 61 061 98l 8L 181 8.1 6€L LEL €el
S €5 s 1S 0S (94 8 A4 9 Sy 144 1914 144 34 [ol4 6¢ 8¢ A
uouay aulpo| wnunjaL Auownuy ui wnipuj wniwped JOAIS wnipe|ied wnipoyy wniuayiny wnpauyos| wnuapgAjop wniqoIN wniuoouz wnupA wniuong wnipigny
) ¢ I ol qas us ur PO By Pd Uy ny oL O aqN 1z A 1S qd
LEL pxal 8cl [44) 6L SLL 473 801 901 €0l 1oL 6'G6 626 6 6'88 9.8 §'g8
9¢ S€ e €e 43 1e 0g 62 8T yx4 92 14 144 €2 [44 %4 0z 6l
uoydAsy auiwolg wniuajes LIVESY wniuewssS wnijes auiz Jaddop [93OIN Jleqod uoy| asauebuep wniwoiyy wnipeuep wniuey| wnipuess wniey wnissejod
M 19 °s SV 29 eo uz no IN 0J o4 Ul 12 A 1L s ed b
8'e8 6'6L 06L 6. 9CL 169 ¥'59 S'€9 1'89 6'85 8'6S 65 028 6°0S 6Ly 0'Sy (014 1'6€
8l Ll 9l Sl 142 €l 1) L
uoBiy auuolyy anyng snioydsoud uoolIs wniuwn|y wnisaubepy wnipog
v 19 s d IS v By EN
6'6€ §g'ge L'ce ole 1’82 02 eve o'ee
oL 6 8 L 9 S 14 €
uosN auuon|4 uabAxQ uaboniN uoge) uolog wnihieg wniyn
N E| o N o) <] °g "1
[4v4 06l 09l oyl 0zl 80l 06 69
4 l
wniiaH uaboipAH
oH H
oy 0%
0 in | | A Al I o _
dnouag

SjusWa|g ay} Jo d|qe] dIpouad YL

11



